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1. What is the value of o (o0 # 0) for which
x? — Bx + o and x% — 7x + 2a have a common
factor 7
(a) 6
(b) 4
(e) 3
d 2

2. How many numbers from 1 to 1000 are
divisible by 2, 3, 4 and 5 ?

(a) 16
(b) 17
(e) 32
(d) None of the above

8.  What are the factors of x3 + 4x% — 11x - 307
(a) (x—2),(x+3)and(x+5)

(b) (x+2),(x+3)and(x-5)
() (x+2)(x-3) and(x+5)
(d) (x+2),(x-3)and(x-5)

4. ¥ = 111...1 (20 digits), v = 838 ...8
(10 digits) and z = 222 ... 2 (10 digits), then
what is ";Yz equal to ?

@
(b) 1
() 2
(d) 3
STS-M-TPT

(2-A)

What is the positive value of m for which the
roots of the equation 12x% + mx + 5 = 0 are in
the ratio3:27

(a) 5410

5410

& 12

e} —

) =

Let fix) and g(x) be two polynomials (with real
and 4
respectively. What is the degree of fix)g(x) ?

(a) 12

coefficients) having degrees 3

(b)
(c) 4
(d 3

If 5x% + 5x? — 6x + 9 is divided by (x + 3),

then the remainder is

(a) 135
(b) =135
() 63
(d) -63

The product of two non-zero expressions is
(x + y + z) p°. If their HCF is p?, then their
LCM is

(a) (E+y+2)
(b} (x+y+z}p2

(@ (x+y+2z)p°
d &E+y+2z)p



http://iasexamportal.com/civilservices/
http://iasexamportal.com/civilservices/

1. o (a=0) %1 98 AA &9 8, fa@s fag
xg—ﬁx+u3ﬂ'{xﬁ—'?x+2u$[ﬁmﬁm"é
B 8 7
(a) 6
(b) 4
(c) 3
d) 2
2. 1% 1000 9% fFal o=g@ 2, 3, 4 3N 59
fausT € 2
(a) 16
(h) 17
(e} 32
(d) wRE O & wig T
8. x®+4x%-11x-30 % HES T & 7
(@) (x-2),(x+3)3M(x+5)
(b)  (x+2),(x+3) 3 (x-5)
(© (x+2),(x-3)3M(x+5)
(@) (x+2),(x-3) M (x-5)
4. =R x=111...1(203F),
y=333...3 (10 3=) 31
. B
z=222...2 (10 3) B, @t =¥ frus
K4
TOET B 7
(a) L
by 1
(e) 2
d) 3

STS-M-TPT

(3-A)

m 1 98 YATcHF 0F #4018, foaes fou wrfe
12x2 + mx +5=0% qe1 3: 2% I & & ?

(a) 5410

510

b
(b) 13

(e} —

d) =

T i ) 3R g @ TR (At
TRt & |1Y) €, fehT feft e s afit 42

fix)gkx) $ feaft &= 2 2
(a) 12

(b) 7

(e} 4

(d)

'ﬁﬁ 5x% + 5x2 — 6x + 9 Bl (x + 3)# fawse
fopa ST B, A1 YRS TR ?

(a) 135
(b) -135
(e) 63
(d) -63

awmmwm+y+z}p3% |
7t 371 TEaw guMEds (HCF), p? 2, & 39
HAH RS (LCM) 91 & 7

(a) (x+y+2)
(b) (x+y+2)p?
(¢) (x+y+2z)p°

d) x+y+z)p
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9. If the points P and Q represent the real
numbers 0-83 and 062 on the number line,
then the distance between P and Q is

21
(a) é_ﬂ
19
b o
(b) 90
21
(c) ﬁ
56
d s
(d) 50

10. Sudhir purchased a chair with three
consecutive discounts of 20%, 12-5% and 5%.
The actual deduction will be
(a) 335%

(b) 30%
() 32%
(d) 35%

11. A fruit seller has a certain number of mangoes
of which 5% are rotten. He sells 75% of the
remainder and he is left with 95 mangoes.
How many mangoes did he have originally ?
(a) 500
(b) 450
(e} 400
(d) 350

STS-M-TPT

(4-

12,

13.

14.

15.

A)

If a train crosses a km-stone in 12 seconds,
how long will it take to cross 91 km-stones
completely if its speed is 60 km/hr ?

{(a) 1hr 30 min
(b)

(e) 1 hr 51 min

1 hr 30 min 12 sec

{(d) 1hr1 min 3 sec

In a 100 m race, A runs at 6 km/hr. If A gives
B a start of 8 m and still beats him by
9 seconds, what is the speed of B ?

(a) 46 km/hr
(b) 48 km/hr
(¢) 52 km/hr
(d) 54 km/hr

The quotient of 8x® — y? when divided by
2xy + 4x2 + y2 is

(a) 2x+y
(b) x+2y
{c) 2x-y
(d) 4dx-y

If (x + 2) is a common factor of x2 + ax + b and

x? + bx + a, then the ratio a : b is equal to

(a) 1
(b 2
(e) 3
(dy 4
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10.

11.

STS-M-TPT

 (a)

afg famg P 3 Q e W W aralas wEnsi
0.83 3 0.62 ® f=fa =@ &, @1 pafh Q
¥ o i g TR 2

21

90

19

90

21
100

(b)

(e)

56
90

(d}

T AT HEaE 20%, 12:5% N 5% F T,
gl 3 vsh el @il | 1 W At werd
1 BT 2

{(a) 336%
(b) 30%
(c) 32%

(d) 35%

U W fashar & 99 Ush fAfvea d@en 4 s m
g, ol & 5% 52 gu & | 97 3w W F 75%
9 %A & oft 3u% U™ 95 AW €= AW 8 |
S | 39k TE TR 31 o 2

(a) H00

(b) 450
(e} 400

(d) 350

12. U% Hie fafgd geen w1 km @t 2, =91

13.

14.

15.

(5-A)

TR % § A2 Uk 39 12 U odt 8, 9 UH
TH gee w1 | W 91 km forar 2, 9l @@ R
w1 W ¢ Traar @wg @fl, afg @7 & fF
60 km /52T & ?

(a) 1 30 e
(b) 1% 30 e 12 9%
(¢) 192 51fme
(d) 1% 1fiFe 39%E

100 m &1 T 25 § A, 6 km/5el ¥ 2=ar # |
Ifz A, B& 8 m AW ¥ ey & famga a1 8
i fm i BF oTFs H U A B, @ BH
I TR 7

(a) 46 km/=el

(b)  4-8 km/H2T
(¢) 52 km/Fel

(d) 54 km/=2T

Bxs—_',raﬂa':’l 2xy+4x2+y2ﬂﬁl‘ﬂ'lﬁlﬂmq'{
WRTRE 41 BT 2

(a)
(b)

(¢) 2x-y
(d}

2x + vy
X+ 2y

4x —y

Az (x+2), x2+ax+b M2 +bx +a F TH
TE OFES &, 91 39 a : b Has U= 2 2
(a)
(b}
(e)
(d)

W L3 BD =
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16. Let 19.
fix)=a,x" +a, xn-1 4 a.zx”"z to. k8, Xta,
where a,, a,, a,, ..., 8 are real numbers.
If fix) is divided by (ax—b), then the
remainder is
s
(a) f E)
S 20.
p
b ff- EJ
o
(a
f| =
(c) hbj
i
d f —-E]
. b
17. Consider the following numbers :
1 2222 21
2 11664
3. 343343
4. 220347
Which of the above are not perfect squares ?
(a) 1,2and3
(b) 1,2and4
(e) 2,3and4
22,
(d) 1,3and4
18. The product of the polynomials (x + 2), (x — 2),
(x% —2x% + 4x — 8) and (x? + 2x% + 4x + 8) is
(a) =x%-256
(b) (x*-16)?
() (x*+16)?
@ 2-4t
STS-M-TPT (6-A)

The factors of x (x + 2) (x + 3) (x + 5) — 72 are
(a) x,(x+3),(x+4)and(x-6)

(b) (x—1),(x+86)and (x2 - 2x — 12)

(¢) (x—1),(x+6)and (x? + 5x + 12)

(d) (x+1),(x-6)and (x% - 5x—12)

If the HCF of polynomials
fix) = (x—1) (x2 + 3x + a) and
g(x) = (x+2) (xZ + 2x + b) is (x2 + x - 2),

then what are the wvalues of a and b
respectively ?

(a) 2,2

(b) 2,-3
¢ -1,-3
(d -2,-1

a, b, ¢, d are non-zero integers such that (ab)
divides (ed). If a and c are coprime, then which
one of the following is correct ?

(a) aisafactorofe

(b) aisafactorofb

(¢) aisafactorofd

(d} disafactorofa

If the roots of the equation
a(b-c)x® +blc—a)x+c(a—h)=0are

equal, then which one of the following is

correct 7
fa) Z2b=a+c
() b2=ac
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16. TH Hifsw

17.

18.

STS-M-TPT

o n n—-1 n-2
fix)=a,x" +a;x +8,X LT e e g -

?, 58T ay, a,, 85 aua’lﬁﬁﬁd@ﬁ% |
afe fix) # (ax - b) & fAwfas e s, @
SN AT ' 7

Frfafaa demat w femm Hifsm
2229

11664

343343

, 220347

39w A A gl 9t 77 B 2
(a) 1,23 3

(b) 1,237 4

(¢) 2,334

(d 1,33M4

Lol o

UL (x + 2), (x - 2), (x% - 2x% + 4x - 8) 3N
(x% + 2x2 + 4x + 8) T UABA 1 8 ?

(a) x%-256
(b) (x*-16)2
(€ (x*+16)

(d) (x%-4)*

19, x(x+2)(x+3)(x+5)-72% -GS ¥

20.

21.

22,

(P A)

() x, (x+3),(x+4)3M (x - 6)

()  (x=1), (x +6) 3T (x2 - 2x — 12)

(€ (x-1),(x+6) 3T (x2 + 5x + 12)

(d)  (x+1),(x—6) 3 (x2 - 5x—12)

e WEWE fm=(x-1(xZ+3x+a) 3N
g(x) = (x + 2) (x2 + 2x + b) T HEGH THIETH
(HCF), (x2 + x — 2) 8, T a 3 b & HF HH:
82

(a) 2,2

(b) 2,-3
(¢ -1,-3
(d -2,-1

a, b, c, d 3 UHN % YA it & & (ab),
(ed) ! Towfoa wwar & | IR a 3T ¢ 3HEITST
g, d e g @ s adt 8 2

(a) a.,c*'ﬂﬂ“ﬁé@%
(b) a, b UAEE B
(¢) a,d HEE &
(d) d,ad THEES &

#fe gefieto

ab-c)xl+blc-a)x+cla—h)=0%Hd
e &, A Pefofaa d e sl wdi 8 ¢

(a) 2b=a+e
(b) bZ=ac

2 1 1
S e e

(d)

B
+
| =

o=
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23. The non-zero solution of the equation
a—x? _b—x= gt ) b —x? e
bx c b X
b=0,c=0 is
b? +ac
(a)
b2 +c?
b? — ac
R
b? —ac
&) ——s
b2 4 c?
b2 +ac
(d) T o2
24. Ifkis an integer, then
x% + Tx — 14[k2 = g-] =0 has
(a) Both integral roots
(b) At least one integral root
(c) Nointegral root
(d) Both positive integral roots
25. How many numbers between 500 and 1000
are divisible by 13 ?
(a) 36
(b) 87
(c) 238
(d) 39
26. To maintain 8 cows for 60 days, a milkman
has to spend ¥ 6,400. To maintain 5 cows for
n days, he has to spend ¥ 4,800. What is the
value of n ?
(a) 46 days
(b) 50days
(¢} 58 days
(d) 72 days
STS-M-TPT (8-

217.

25.

29.

30.

A)

A student has to secure 40% of marks to pass
an examination. He gets only 45 marks and

fails by 5 marks. The maximum marks are

(a) 120
(h) 125
(c) 130
(d) 150

What is the value of u in the system of
equations 3 (2u + v) =Tuv, 3 (u+ 3v) = lluv ?

(a) O

(b)

b | =t

(e}

| b |

(d)

Five years ago, Ram was three times as old as
Shyam. Four years from now, Ram will be
only twice as old as Shyam. What is the
present age of Ram ?

(a) 30 years
(b) 32 years
(e) 36 years
(d) 40 years

Ram buys 4 chairs and 9 stools for ¥ 1,340. If
he sells chairs at 10% profit and stools at 20%
profit, he earns a total profit of ¥ 188. How
much money did he have to pay for the

chairs ?

(a) & 200
(b) ¥ 400
(e) < 800
(d) ¥ 1,600
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23.

24.

25.

26.

STS-M-TPT

e 2= x2 h-x_c—x b —x%
- — - L)

bx b cx

W& b0, c£08, ‘ﬂ?@ﬁt"ﬁw%?

b? + ac

(a) b—z s

2
(b) b* — ac

(e)

(d)

afg ko il &, @

x? + Tx - 14[k2-§] 0 #1/%

(a) ﬁ‘ﬁf‘ﬁ'ﬁiﬁ%
(b) HH-H-FH TH qA I 3

(c) =hrE off gt qurish =t 8
(d B g 99 Uil 7

500 3T 1000 % = fraft g=md, 13 @
fames & 2

(a) 36

(b)y 37

(c) 38

(d 39

T guaTel i 8 T B wwLde 60 fE G
& & fou = 6,400 @F A 9sd & | 5 Al
WW*Wﬂﬁﬁﬁﬁeﬁm,ﬁ
T 4,800 @4 A USA & | nH HE L ?
(a) 46 f&

(b) 50 f@m

(c) 58T

@ 72fe=

217.

28.

29.

30.

(9-A)

U B9 % et gffen #9819 % o 404
3 Wi A & | 38 had 45 37 W Bid g
3R 98 5 3 U B B WA 8 | ullE

AfereRaH 37 T E ?
(a) 120

(b) 125

(e} 130

(d) 150

R

3(2u + v) = Tuv, 3(u + 3v) = 1luv 'ﬁ, u=h
icice i A

(a) O

(b)

(e)

L Y e

(d)

g 94 Ugd, TH H 1Y, WH H qg F
ot oft | or@ & =W ¥ =g, W f 1y, v
=1 217 = Hae g arfl | 7w B S 3
TR ?

(a) 3039

(b) 329W

(c) 3699

(d) 4039

9 T 1,340 § 4 FHaT 3K 9 o @figar &
afg a8 HEEt Fr 10% W W R v =
20% ATH YT d=al 8, 9 39 T 188 I Fed @I

A & | HEt F o & fhaft wa o oo
oft 7

(a) ¥ 200
(b) ¥ 400
(e} ¥ 800
(d)y ¥ 1,600
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31.

Which one of the following is a correct
statement ?

(a) {x:x+5=5}=
_{h} x:x+5=>5]={0)
(¢) {x:x4+5=5]=0
(d) [x:x+5=5)= {0
32. If ab + bec + ca =0, then what is the value of
a’ h* c?
3 e il ?
a“—bc b® —=ca c“ —ab
(a) 3
by 0O
() 1
d -1
}3. In an examination, 35% students failed in
Hindi, 45% students failed in English and 20%
students failed in both the subjects. What is
the percentage of students passing in both the
subjects 7
(a) O
(b) 20
(c) 30
(d) 40
T Wk 5 2L z;(z =% - equal to ?
Z-y) +(y-2)" +(z-x)
1
{El} - E
1
b &
(b) 3
(e} 3
(d) -3
TS-M-TPT

35.

36.

a37.

38.

39.

(10-A)

The value of .J1+-J1 +,|f1+...

(a) Equalstol

(b} Lies between 0 and 1
(¢} Lies between 1 and 2
(d) Is greater than 2

If log,, 6 =0-7782 and log,, 8 = 0-9031, then
what is the value of log,, 8000 + log,, 600 ?

(a) 4-6813
(b) 55813
(e) 1-5813
(d) 66813

30 men can complete a job in 40 days.
However, after 24 days some men out of the
assigned 30 left the job. The remaining people
took another 40 days to complete the job. The
number of men who left the job is

(a) 24
(b) 18
() 12
(d 6

4 goats or 6 sheep can graze a field in 50 days.
2 goats and 3 sheep will graze it in

(a) 200 days
(b) 150 days
(¢) 100 days
(d) 50 days

A tap can fill a tub in 10 hours. After opening
the tap for 5 hours it was found that a small
outlet at the bottom of the tub was open and

3 & o
water was leak‘ng +l1ﬂ‘.l}11r-h it. It was then

immediately closed. It took 7 hours to fill the
tub after closing the outlet, What time will be
taken by the outlet to empty the full tub of
water ?

(a) 35 hours

(b) 25 hours

(e) 20 hours

(d) 17 hours
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31.

32.

33.

34.

STS-M-TPT

frfafiga § & S-81 us g o 2 2
(a) Ix:x+5=5}=¢
(b) |[x:x+5=5}={0)
(¢ [E:x+5=5}=0
(d) [x:x+5=5}={d)
ﬁﬁab+bc+ca=ﬂ%1?ﬁ

2 2 2

R gy € * OHHE
a2_-be bZ-ca c?-ab
27
(&) 3
(b) 0
(e 1
d -1

sk gliam d 35% o &l ® el &1 U, 45%
B AU H el B T ST 209 B A1 faw
H % 8 U | gl fawdt F uw g 9 ol
=1 wfcrerear &= 8 7

(a) O

(b} 20
(e 30
(d) 40

(x—y)(y—2z)z-—x)
x-y2 +y-2°%+@-x°

foraes sUe B 7

30

36.

37.

38.

39.

(11-A)

\/1+,[’1+.ﬁ: HT 7

(a) 1% sST= 8
by O 1HH=AT B
(c) 13ﬂ12ﬁsaﬁﬂﬁ%

(d) 2898e
e log 6 = 07782 3N log, 8 = 0:9031 &,
al log, , 8000 + log, ) 600 T HI 4T 27

{a) 46813

(b) 55813

(¢) 15813

(d) 66813

30 =afth U &1 @t 40 & § 0 = wHd § |
T 24 fedt & =g 30 sufwai d @ %@ 3 3@
HE HI Big GF1 | FEh! = gL A A 39 HE
H W HH * g 40 fm ok fom | =0 o
3 el =Afhal I AET R Y

(a) 24

(b) 18

(c) 12

d 6

4 FHIET AYGT 6 HE, Tsh @d Hl 50 &A1 § =
TRl 8 | 2 99T 3T 3 9 39 @4 &I A
fet o = &t 2

(a) 200TA

(b) 150TE=

(¢) 100%EA

@ 50

UF 7 foreft 2@ 1 10 9 § 9T ushar & | 79
WieH & 5 92 918 98 T T 5 g o aelt |
F Bl FwE Gen g3 o1 HK IEH d 9
e @1 o1 | 99 39 doh s o feE T |
frepm 9¢ A & 9 o B WA d 7 He @ |
Ol O gL WL §Y 29 &I HeE & A | @l

F | foRaar g9y @ 2
(a) 35 e
(b) 255
(¢) 20He
@ 175
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40.

41.

42,

A boy went to his school at a speed of
12 km/hr and returned to his house at a speed
of 8 km/hr. If he has taken 50 minutes for the
whole journey, what was the total distance

walked 7

(a) 4km
(b) 8km
() 16km
(d) 20km

If 78 is divided into 3 parts which are

proportional to 1, %, %? then the middle part

is

28
(a) E
(b) 13

52
(e) ?

b5
(d) 3

There are 350 boys in the first three
standards. The ratio of the number of boys in
first and second standards is 2 : 3, while that
of boys in second and third standards is 4 : 5.
What is the total number of boys in first and
third standards ?

(a) 302
(b) 280
{c) 242
(d) 230
STS-M-TPT

43.

(12-A)

The difference between the compound interest
(compounded annually) and simple interest on
a sum of money deposited for 2 vyears at
5% per annum is ¥ 15. What is the sum of
money deposited ?

(a) ¥ 6,000
(b) ¥ 4,800
(e} T 3,600
(d) ¥ 2,400

When prices rise by 12%, if the expenditure is
to be the same, what is the percentage of
consumption to be reduced ?

(a) 16%%
) 11:1%%
© 162—%
d mg%

A man rows down a river 18 km in 4 hours
with the stream and returns in 10 hours.
Consider the following statements :

1.  The speed of the man against the stream
is 1-8 km/hr.

2. The speed of the man in still water is
3-15 km/hr.

3. The speed of the stream is 1-35 km/hr. I
Which of the above statements are correct ?
(a) 1and 2 only

(b) 2and 3 only

(c) 1and3only

(d) 1,2and3
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40. TF @=H 12 km/He FH I T IR A9 |43,

41.

42,

STS-M-TPT

THel T 3R 8 kmy/Te I AT T A B ATIH
s | gfe @ aw % e 3@ 50 fime fog, @
a8 el fehal gl =en 2

(a)
(b)
(e)
(d)

4 km
8 km
16 km
20 kkm

afz 78 = 3 fewai o fawfea feear smo i

_1:%,éaﬁﬂqﬁﬁﬁ,ﬁaﬁaw%m

feraam 2 2
{a) e
(by 13

(e) —

(4} ==

yselt 9 wanail °§ et 350 @ & | wwelt 3R
Zalt Hanm & weH bl wEmH H 2 : 3 W
I B, SEfe gal ok diad wan d aew
=1 T T I 4 : 5 2 | ggelt R Al
HeraTl & TSkl hl Hel HEAT Tohal B 2

(a) 302

(b) 280

(c) 242

(d) 230

44,

45.

(13-A)

o asl & fou 59 61 arfifes g w51 1 T U
g W =gl =S (a1fhe 9 8 #9itea)
S HTUROT TS BT SR T 15 8 | o W mE
gf3 @ 2 2

(a) ¥ 6,000
(b) ¥ 4,800
(e) ¥ 3,600
(d) ¥ 2,400

o gedt # 129 61 gfg & W, s afg wd
8l aTU TEAT 8l o @ud § fead uidea e

T gl 2
(a) 16%%
(b) 1u%
© 16%%
(d) 1n§%

s =gfeh Rt 7t B um % WY 4 92 H 18 km

dp @ar & S 10 9 ¥ 999 @7 R |

Frefafaa e @ fa=m $ifse .

1. uw % faule = it = 18 km gf
T8 |

2. o8t g2 gt # =afts Y =14 315 km WA
TR |

3. o1 <t 9Tl 1-35 km ¥id g1 2 |

IT0EE | A - FHYT e E 2

(a) ehael 13T 2

(b) “Hae 2 3T 3

(c) <hae 137 3

(d) 1,233
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46. If a triangle has sides 5, 13 and 12 units and 8
is the acute angle of the triangle, then what is
the value of (sin 0 + cos @) ?

5
(a) —
% Ip
7
by —
13
12
(e) —
13
17
d i
(d) i3

47. T 0<x< g, then (sin x + cosec x) is
(a) =2
(by <2
() =2
(d) =2

m? - n? Tt

48. 1If sin B = e and 0 =8 < —, then

m* +n 2
what is the value of cos 6 ?
2mn
a) ———5
m? + n?
2mn
b)) ————
M= A
2 2
m*+n
(c) e
" 2mn
2 2
m*“ —-n
d ol Y
(e 2mn
STS-M-TPT

49.

a0,

51.

(14-A)

If angle A of triangle ABC is 30° and the
circum-radius of the triangle is 10 em, then

what is the length of side BC ?
Scm

(a)

(b) 10ecm

(¢) 5+3cm

(d) 1043 em

sin 45° — sin 30°
If A= and
cos 45° + cos 60°

_ sec4b5”—tan 45°
cosec 45° + cot 45°
following is correct ?

(a)
(b)
(c)
(d)

, then which one of the

A=B
A>B>0
A<B
B<A<0

If 8 measured in radians is the angle between
the hour hand and the minute hand of a clock
when the time is 4 : 36 pm, then which one of
the following is correct ?

(a) -353-:5{%
(b) 25 B{ﬁ
B 5
LT
©@ 5 5
T 8
(d) EEBSE
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46. =% w Biygw & el 5, 13 3 12 9 € afi

Gﬁ'{ﬁﬂ:’ﬁﬂﬁmﬁ,?ﬁ{sinﬁ+msﬁ}ﬂm

TR 7

(a)

(b)

12
(C} E

17

(d) T

47. AR 0<x< g 2, Al (sin x + cosec x) B
(a) =2
by <2
(c)y =2
- (d) =2
]]12 = ]'12 LA
48. IfE sin 0 = Ao<o<Z® Al cosh
m? + n? 2
& HE =R ?
2mn
(a)
m2 4 112
Z2mn
(b)
Tﬂ2 e HE
mZ +n?
(c) B
2 2
m —11
W em
STS-M-TPT

49,

50.

al.

(15—A)

ﬂﬁﬁﬂﬁﬁﬂéwaﬁm&m“%aﬁ?ﬁgﬂ%
afigd & = 10 em 3, @ ¥ BC it oad
TR 7

{a) BHecm

(b} 10ecm

(c) 5.3 em

(d) 1043 em

Iiﬁ T =2in 45° — sin 30° 3#[

- cos 45° 4 cos 60°

= e _tanT § ot fffen F @
cosec 45° + cot 45°

A |E B ?

(a) A=B

ib) A=B=0

(c) A<B

(di B<A<0

T o, Praem wa e # 2, et udt & R
$ g ot fre € g€ & e % B 3§ o
T 4 : 36 AWE &, A FrttEs § @ wAa
e R ?

(a) 3—;{8 %
2= aq%"
(c) gﬁﬂi%
(d) %EBE%


http://iasexamportal.com/civilservices/
http://iasexamportal.com/civilservices/

52. Consider the following statements :

1: If 45° < 86 < 60°, then
sec® D + cogec? O = o2 for some real
number « > 1.

" & 1l+cos0 9
2. If 0° = 8 < 45°, then ——— = x* for
l-cost
some real number x > 2.
3. If 0° <8 < 45°, then
cos O sin 6 s 9
l—tan@ 1—cot@

What is the number of true statements ?

(a) Zero

(b} One

(e} Two

(d) Three

53. Let AB represent a building of height h metre
with A being its top, B being its bottom. Let

A’B’ represent a tower of height (h + x) metre

(x > 0) with A" being its top and B’ being its

bottom. Let BB’ = d metre. Let the angle of

elevation of A’ as seen from A be 45°,

Consider the following statements :

Statement]: h+x>d

Statement Il : The angle of depression of B as

seen from A’ is less than 45°.

Which one of the following is correct in respect

of the above statements 7

(a) Both Statement I and Statement II are
true and Statement Il is the correct
explanation of Statement [

(b) Both Statement I and Statement II are
true but Statement II is not the correct
explanation of Statement I

() Statement I is true but Statement II is
false

(d) Statement I is false but Statement II ig
true

STS-M-TPT

54.

56.

(16—A)

A man, standing at a point X on the bank XY
of a river that cannot be crossed, observes a
tower to be N o® E on the opposite parallel
bank. He then walks 200 m along the bank to
the point Y towards East, and finds the tower
to be Nf°W. From these observations, the
breadth of the river will be

(Given that tan «® = 2 and tan pf° = 0-5)

(a) 60m

(b) 70m

(e) 80m

(d) 90m

The value of i where 1° represents
sin 1°

1 radian is

(a) Equaltol

(b) Lessthan1

{e)  Greater than 1 but less than 2

{d} Greater than 2

The diameters of two given circles are in the
ratio 12 : 5 and the sum of their areas is equal
to the area of a circle of diameter 65 em. What
are their radii ?

(a) 12cmandbecm
24 cm and 10 em

(c) 60 cm and 25 em

30 em and 12-5 em
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52.

53.

STS-M-TPT

Frefaftad et 9t famm Hifsu .
1, Aff 45°<0<60° &, 91

sec? 0 + cosec? 0 = o Tt arfas dEm
as>1F g |
1
052 - x? fireh

2. ARG 0° <0 <45°®, @
l-cos B

redfas 98 x> 2% w2 |
3. At 0°<0<45° 8, I

cos B sin 8
1-tan® 1—cot8

ol FuA] I T g 0

(a) I
(b) UH
© @&
(d)

A #fifsiw AB, h Her F=E it vw ARG Ht
frefia w1 @ 981 A 391 3N 3 B 38
@ B | AW IR AR, (h+x) HREX
(W@ x > 0) FaTE H1 v MW FH Frefia Fa
2 ol A’ 39 3 3 B 3O O B | HM
ifse BB = d Hiex & | o <fifore A & 2@r T
A’ I IFET BT 45° 2 |
faaferfiaa wuat ot famm Hifso .
HHTI : h+x=>d

HYFI1: A’Y @1 T B 1 ASAHA HI 45° H
FHR |
I el & Hed ¥ Fefafag 4 9 s
R
(a) HF 1 AR FYF 11 TE1 d8 8, 3
e 11, 949 1 ) T =1 2

(b) e I 3R oM 11 gHf wél &, 9
FYF 11, HI 1 1 TEl =TT T8 8

(c) “hYF 1 EEl B, U0 oA 11 7eAd 8
(d) YA 17T 8, 9 HYF [ HE1 8

>2% |

54.

55.

56.

(17-A)

vk Adl, T8 9@ fenr 1 @, F XY
B W, X g W @er gan us =Afte ane
arel FETH fRAR 9% UH §HWR R N E %
FHER @ @ | {5 ag safw e & wy @
faam & i v fog 9% 200 m 5@ 2, ofR
HA1 1 N pe W feufd # g 2 ) 39 o
& arEn, 79 i =g w0 A 2

(fem a1 2 76 tan 0° = 2 3 tan p° = 05 8)

(a) 60m

{E} T0m
(e} B0m

(d) 90m

sin 1°

W AW w R, w16 1 emw W

sin 1°
frefya s & 2
(a) 1%k SO

(b) 1H %A

() 19 =ifuss, feg 2@ =9

@ 2% Hft=w

feu T 31 99 % AW 12: 5% AU § # aii
I HABA! B INHE, 65 cm SAE G TH
I o &FhA o aER @ | I Beand @ E 2
(a) 12cm 3R 5em
(b) 24 cm 3R 10 cm
(¢) 60 cm 37 25 em

(d) 30 cm 3T 12-5 em
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57. A hollow cube is formed by joining six
identical squares. A rectangular cello tape of
length 4 ¢m and breadth 05 em is used for
joining each pair of edges, What is the total
area of cello tape used ?

(a) 12 square cm
(b) 24 square em
(e) 36 square cm
(d) 48 square em

58. Two straight lines AB and AC include an
angle. A circle is drawn in this angle which
touches both these lines. One more circle is
drawn which touches both these lines as well
as the previous circle. If the area of the bigger
circle is 9 times the area of the smaller circle,
then what must be the angle A ?

{a) 45°
(b)y 60°
le) 75"
(dy 90°

59. An isosceles triangle iz drawn outside on one
of the sides of a square as base in such a way
that the perimeter of the complete figure is
L times the perimeter of the original square.
What is the ratio of area of the triangle to the
area of the original square ?

{a) 1:1
(b) 2:3
(c) 1:2
(d) 1:38

60. What is the area of the triangle whose sides
are 51 em, 37 em and 20 em ?
{a) 300 square ¢m
{(b) 305 square cm
(c} 306 square cm
(d) 307 square ¢m

STS-M-TPT

61.

62,

63.

(18-A)

Segment QR of length r is a tangent at Q to a
circle of radius r with centre at P. What is the
area of the part of the triangle PQR, which is
outside the circular region ?

(a) r;r_;
(c) %—T—;
o -

In a triangle ABC, AD is perpendicular on BC.
If £ BAC =90°, AB =¢, BC=a, CA=band
AD = p, then which one of the following is

correct 7

{a) p=abc
(h)  p=he
(c) pP= E
7

AB and CD are parallel chords of a circle 3 em
apart. If AB = 4 em, CD = 10 ¢m, then what is
the radius of the circle ?

(a} Tem
(b)  V19em
(© V29em
{dy 14em
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57. ©: G9EH 91 i SlgHl Uh @@l 9 =S990
T} | AR % ueE YW ol Sed & foe
4 cm THETE 31T 0-5 cm TS I U AHATHR
gar 30 =1 99 & mn 8 | v ° o e
el 39 F Fel BTG fhed1 & ?
(a) 12T em
(b) 2490 em
(¢) 867 em
(d 489 em

58. < |l W@ AB 3R AC U I #6A & | 3@
HIV H UF g4 S A € A gH d@ieil
| T HA R | T g9 IR AT A€ R A
T Ml T@iel & w1Y-ETy, UEd 91 g9 i i
oyl e ? | afg 92 are 99 # &, 8l
916l g9 % &%l %1 9 TAT 8, dl IV A FH HH
TR ?
(a) 45°
b  60°
(€ 75°
(@ 90°

59. Tweft o & goedt A @ fElt v #1 suR
o, T & A us gufgay A9 @ R
g sl 2 6 gl anepfa &1 afomme awfies
ﬁ%mﬂgﬁﬁlﬁﬁ%ﬁmm,
wrifies a1l % e @ Y 1R 2
(a) 1:1
b) 2:3
e} 1:2
(d 1:3

60. 39 Fygw #1 f9wa fRam ®, Ty
51 cm, 37 cm 3T 20 cm & ?
(a) 3009 cm
(b) 3059 em
(c) 3069 em
(d) 3079 em

STS-M-TPT

61.

62.

(19-A)

r EE % UH @Es QR, B=n or sk

Fgfeg P v g9 & forg Q W omA ?
s PQR % 39 B w1 gEea w4 8, o

RN &7 % ATE A ?

(a)
(b)
(c)

(d)

us fiys ABC #, AD, BC W @& ¥ | 3R
Z BAC = 90°, AB = ¢, BC = a, CA = b 3
AD=p&, o Frefefas f @ S g & 2

(a) p=abe
(b) p’=he
R L
e
(d) p= 2

AB 3R CD, % g4 i FHie Sfiad & St 3 em
*IQ?I‘H% IﬂﬁAB=4cm,CD=lﬂcm%,Eﬁ
g9 =l e @ & 2

(a) Tem
(b) V19em
(© V29em
(d) 14em
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64. The diagonals of a cyclic quadrilaferal ABCD

65.

66.

STS-M-TPT

intersect at P and the area of the triangle APB
is 24 square cm. If AB = 8 em and CD = 5 cm,
then what is the area of the triangle CPD ?

(a) 24 square cm

(b)

15 square em
(¢)  12-5 square cm

(d) 9-375 square em

In an equilateral triangle ABC, BD is drawn
perpendicular to AC. What is BD? equal to ?

(a) AD?
(b) 2AD?
(¢) S3AD?
(d) 4AD?
The distance between the centres of two

circles having radii 9 cm and 4 cm is 13 cm.
What is the length of the direct common

tangent of these circles ?

(a) 12em

(b) 1lem
(¢) 10cm

(d 95cm

67.

68.

69.

(20-A)

If PL, QM and RN are the altitudes of triangle
PQR whose orthocentre is O, then Q is the
orthocentre of the triangle

(a) OPQ
(b} OQR
(¢}  PLR

(d) OPR

In triangle ABC, £C = 90° and CD is the
perpendicular from C to AB.

If (CD) 2 = (BC) 2 + (CA) 2, then which one of

the following is correct ?
(a) BC.CD=AB.CA
(b)) AB.BC=CD.CA

(¢) CA®+CB?=2(AD?+CD?
(d) AB.CD=BC.CA

If a point O in the interior of a rectangle
ABCD is joined with each of the vertices A, B,
C and D, then OB? + OD? will be equal to

(a) 20C2%+0A2
(b) OC2_0A%
() 0C?4+0A2

(d) 0C2+20A2
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64. TH THE dqds ABCD % fa@ul P w witede

w7 & 3 BYs APB %1 &5%d 24 99 em R |
If2 AB =8 cm 3R CD =5 cm B, @ &9 CPD
&1 8% #9418 7

(a) 249 em
(b 159 em
(¢) 125 cm
(d) 93758 em

65. U THEE AYF ABC H, BD, AC W weq
@it Tt & | BD? frueh sUeR R 2
(a) AD?

(b) 2AD?
() B8AD?
(d) 4AD?

66. 9 cm 3 4 cm H fiwwrel T 2 g9 F F
% ff9 H gl 13 em B | T I H IwIFS
FTETR 11 ] TS TR ?

(a) 12em
(b) 1lcm
(c) 10cm
(d 95cm
STS-M-TPT

(21-A)

67.

68.

69.

af PL, QM 3R RN, 39 Biys PQR % vfides
& o @@ ¥ 08, M Q, Fem Bgw = &
Hg B2

(a) OPQ

(b) OQR

(e} PLR

(d) OFR

i ABCH, £ C=90° 3K CD, C ¥ AB W
@ 8| 3R (cDy? = BO)Y? + (CA2 ], @
Frefoiftas § @ s ad & ¢

(a) BC.CD=AB.CA

(b) AB.BC=CD.CA

(¢) CA?+ CB?=2(AD? + CD?

(d AB.CD=BC.CA

gf¢ us sm9d ABCD & Tl af@: fag O #i
wif famgeit A, B, C ok D & Srer 5w &, &
OB? + OD? forue aU=T B 7

(a) 20C2%+ 0AZ2

() OC2-0A?
(e) OC2?+0A?

(d) OC?+20A%
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70.

71.

72.

A cylinder of height 2x is circumsecribed by a
sphere of radius 2x such that the circular ends
of the cylinder are two small circles on the
sphere. What is the ratio of the curved surface
area of the cylinder to the surface area of the

sphere ?

(a) 3:4
(by 3:3
(@ 3:2
@ +3:1

A cylindrical vessel 60 cm in diameter is
partially filled with water. A sphere 30 cm in
diameter is gently dropped into the vessel and
is completely immersed. To what further
height will the water in the cylinder rise ?

(a) 20cm
(b) 15cm
() 10cm
(d) 5Secm

The vertical angle of a right circular cone is %
and the slant height is v2r em. What is the

volume of the cone in cubic em ?

(a) mr?
(b) 9mr®
3
nr
(e) T
(d) 3m®
STS-M-TPT

73.

T4.

5.

(22-A)

The radii of the frustum of a right circular
cone are in the ratio 2 : 1. What is the ratio of
the volume of the frustum of the cone to that
of the whole cone ?

1:8

144

(a)
(b)
(e)
(d)

3:4
7:8

From a solid cylinder whose height is 8 cm
and of base radius 6 cm, a conical cavity of
height 8 cm and of base radius 6 ¢m is formed
by hollowing out. What is the inner surface
area of the eavity ?

(a)
(b)
(c)
(d)

67 square cm
81 square cm
10n square em

60mr square cm

A tent has been eonstructed which is in the
form of a right circular cylinder surmounted
by a right circular cone whose axis coincides
with the axis of the cylinder. If the radius of
the base of the cylinder is 50 m, the height of
the cylinder is 10 m and the total height of the
tent is 15 m, then what is the capacity of the

tent in eubie metres ?

(a) 37500m

B7500n
3

(b)

26500x

(c) 3

(d) 25000n
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70. 2x H1S 9T U oo, 2x BHSA1 91 UF M
¥ 3¢ yn gfue § f S99 & Ieig BR, T
T3 AY g9 T | WeH F 9% TO &T6d H
et % Y AEAEe ° I 941 8 ?

(a) 3:4
(b) /3:3
(@ 3:2
(d 3:1

71. 60 cm SAH IS U SoHEhE dd4 AT &9
# Ot & WU R R | 30 em S A TH M
FoRadad fmm o g sag i a@ g
& Sl # | AR a9 § it fea Iw 38
T ?
fa) 20cm
(b) 15cm
(¢) 10em
{d) S5cm

72. @W—W?@W?ﬁ&m%%ﬁ!m
ﬁ@gﬁlﬁﬁrcm%lﬁﬂwmcm
" fopaar 8 2
(a) mr?

(b)  9mr?

,M.E

{B} T

(d) 3mr?
STS-M-TPT

73.

74.

75.

(23-A)

Uk Sa-gdE ve & Ee (FeH) H e
2:1% 3UA H & | 9% & foa% & A=
F1, T F % AT & Ty 94 fevar & 2

(a) 1:8
(b) 1:4
() 3:4
(d) 7:8

ﬁcmmﬁwaﬂiﬁcmmaﬁﬁ'@m
Wﬁ,ﬁcm%ﬂﬁﬁﬂﬁ?&méﬂm
us 3 g Freee o S @ 1 3w weR
dom B ff i W e g e
fopaT 2 2

(a) 6rn 71 em
(b) Snatem
{c) 107 97 em

(d) 60n T em

us e 1 i R T @ S e s
% IU WS TE-gAT Uh b AR H B, &I
W 1 I, AT & 1 & Il 8 | 3G Sew
% 3R # B 50 m, qEH H FAE 10 m
3 a9 &l F HA1§ 15 m &, q a9 I eEa
(wrraraq) == Hiet § feradt & 2

(a) 37500m

875600n

b
(b) 3

() 26500n

(d)  25000m
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76.

77.

78.

STS-M-TPT

Two rectangular sheets of sizes 2n x 4n and
nt x 5m are available. A hollow right circular
eylinder can be formed by joining a pair of
parallel sides of any sheet. What is the
maximum possible volume of the circular

cylinder that can be formed this way ?

(a) 4n

(b) 8n?

() 125 n2

(d) 625n°

In a triangle ABC, the medians AD and BE
intersect at G. A line DF is drawn parallel to
BE such that F is on AC. If AC = 9 ¢m, then

what is CF equal to ?
(a) 225¢em
(b) 3cm
(¢} 45cm

(d) 6cm

In a triangle PQR, X is a point on PR and Y is
a point on QR such that PR =10cm,
RX:KLcm,YR:Ecm, QR = 5 em. Which one

of the following is correct ?
(a)
(b)
(c)

XY is psg.ral]el to PQ
PQ = 2XY
FX=QY

(d) PQ=3XY

79.

80.

81.

(24—A)

Consider the following statements in respect
of three straight lines A, B and C on a plane:

1. If A and C are parallel and B and C are
parallel; then A and B are parallel.

2. If A is perpendicular to C and B is
perpendicular to C; then A and B are
parallel.

3. If the acute angle between A and C is
equal to the acute angle between B and
C; then A and B are parallel.

Which of the above statements are correct ?
(a) 1,2and3

(b).
(c)

(d)

1 and 2 only
1 and 3 only

2 and 3 only

The diagonals of a rhombus are of length
20 em and 48 em. What is the length of a side
of the rhombus ?

(a} 13 cem
(b} 26cm
(e) 36cm
(d}  39cm

An arc of a circle subtends an angle n at the
centre. If the length of the are is 22 em, then

what is the radius of the cirele ?

(Take 1t = %2.)

(a) bHem
(b) Tem
(e) 9Ycm
(d) 1lem
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76.

77.

21 x 4n N 1 x 5n AR F & ATFATHR T
Iqerey & | Terelt oft ot i wwiew yemett &
SITE 1 el T Wige de-awiid S 40
ST Tl & | 55 T S ST HhA A1 g

oA o1 Afehad dva A F91 § 2
(a) 4n?

(b) 8nZ

(¢) 1:25n?

(d 625n°

e BYs ABC H, #Wifeisnd AD 3R BE, G W
yfeede &t § | BE % HHiG U 1@ DF 34
v et et R 6 fomg F, g9 Acm R | 3R
AC=9cm®, df CFrEs stmt 8 7

(a) 2-25cm
(b) 3em
(¢) . 45cem
(d) 6em

78. UH PBys PQR #, PR W uH fag X offt QR

WU fag Y39 OWHR &8 FF PR = 10 cm,
BK:thm,YR:Ecm,QR:Ecm%I
fr=fafas § 9 +la &56 8 2

(a) XY, PQ % GATH &

(b) PQ=2XY

(¢) PX=QY

(d) PQ=3XY
STS-M-TPT

79. U% THAE W A9 oA W@l A, B 3R C *

80.

Bl1.

(25-A)

ded d, f=fafas sua1 v fa=m Hif .
1. 3fg A 3t ¢ gueR € 991 B 3R C 9HW
A AT BEAIT & |

2. AZA CH TSR A B, CH & &; 41 A
M BEATAL & |

3. I A3 ¢ % = %1 ==, B3k C
% o= % AR ok qUEL ;A A I B
aHia & |

I § g HH-E %Y Tt 2

(a) 1,231 3

(b) “hEe 13 2

(e) oad 13 3

(d) e 233

T FHEgHS & el i @ 20 em 3R
48 cm B | Ou=EYS I T g i e =
g7

(a)
(b)
() 36cm
(d)

13 cm
26 cm

39 cm

U gA hl AT F5 W HI « FARG B R
afg =9 6l FEE 22 em B, 91 g4 H B @@

22 (n=22 ofifm)

7

(a) bSem
(b) Tem
() Yem
(d 1lem
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82. One-fifth of the area of a triangle ABC is cut
off by a line DE drawn parallel to BC such
that D is on AB and E is on AC. If
BC = 10 ¢m, then what is DE equal to ?

(a) JBem

(b} 2+5em
(¢ 35em
(d 4+5em

83. There are 8 lines in a plane, no two of which
are parallel. What is the maximum number of
points at which they can intersect ?

(a) 15
® 21
(c) 28
(d) None of the above

B4, A closed polygon has six sides and one of its
angles is 30° greater than each of the other
five equal angles. What is the value of one of
the equal angles ?

(a) 55°
(b) 115°
(c) 150°
(d)y 175°
STS-M-TPT

85.

(26 -A)

Consider the following statements : -

The point of intersection of the
perpendicular bisectors of the sides of a
triangle may lie outside the triangle.

2. The intersection of the
perpendiculars drawn from the vertices

point of

to the opposite sides of a triangle may lie
on two sides.

Which of the above statements is/are correct ?
(a)
(b) 2 only

(¢) Both1and?2
(d) Neither 1 nor 2

1 only

For the next five (05) items that follow :

In a University there are 1200 students
studying four different subjects, Mathematies,
Statistics, Physics and Chemistry. 20% of the
total number of students are studying
Mathematics, one-fourth of the total number
of students are studying Physics, 320 students
are studying Statistics and remaining
students are studying Chemistry. Three-fifth

of the total number of students studying
Chemistry are girls. 150 boys are studying
Mathematics. 60% of students studying
Physics are boys. 250 girls are studying
Statistics.

What is the total number of boys studying
Statistics and Physics ?

(a) 180

(b) 240

{¢) 250

(d) 310
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82. UF Byw ABC % @=5%e &1 uiEel fEemn, s

83.

STS-M-TPT

@ DE g el T4 2, 9@l DE, BC % #Hiat
3q YE Ei=l 18 R D, AB W 3N E, ACW
% 1 3f¢ BC = 10 em &, @1 DE fFgs st 2 7

(a) 5em

(b) 245cm
() 3v5em
(d) 4+/5cm

U guae § 8@ &, e 4 wid oft 2@ s
§ s 7 § | fawgedt i 9w sifusman g
+11 & fm w3 wfeeag = a=dt 2 2

(a) 15

(b) 21

(e 28

(d) IFE | | I T

UF 9G FgS i ©: YANU & AN IgH TH
IV, I G T B0 G 30° I5T & | /U
hivil o ¥ fopet we hivT 1 W w8 7

(@) 55°

(b) 115°
(e)  150°

(d)y 175°

85.

B6.

(27-A)

Freaferfias sy w = Fifso .

1. feedt B B weneit % w9 fawE @
yftedg fomg s & s g v 2 |

2. ol Frys |, 39 ofiNl & @ gone
w Efie e el uRed fasg sw
Bagsr 1 & st WA wwar @ |

I § § SH-AVE A gdl 33 0

(a) Had 1

(b) <hae 2

(¢) 132 gHl

(d) T 1,982

T 3T FTE GieT (05) ToA7971 & o7

s favafaamem & 1200 faeneff 3, =t an fim
o — wiftra, wifeshy, Wifas fasm o wee
o &1 e = w 8 | faf f g
e W 20% TOE H R W W 2,
e & 9 gEm w1 A odifs
s &1 S1eRE @R, 320 faEnedi aifesh
T I W@ 7 3 Iy freneff wen s
H HEAT @ B | WeH e w denm
F AT foenfat f a1 g @ 9 " g
Yy ASfRaT € | 150 TS MO 1 3 o
@ & | it fsm w1 srerwm w9 T
Frnféiat <=1 60% 29w @=F ¥ | 250 @Rl
wifegehl &1 a7e997 1 W 8 |

qiferhl R Hifoss faam &1 s1eee @ 9™
SIsehl I HeT T = 8 2

(a) 180

(b)
(e) 250
(d) 310

240
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87. The number of girls studying Statistics is
what percent (approximate) of the total
number of students studying Chemistry ?

(a) 588
(b} 735
() 787
(d) 806

88. In which subjects is the difference between the
number of boys and girls equal ?
(a) Mathematics and Chemistry
(b) Statistics and Chemistry
(e) Mathematics and Physics
(d) Mathematics and Statistics

89. What is the difference between the number of
boys studying Mathematics and the number of
girls studying Physics ?

(a) 20
(b) 30
(e} 60
(d) 80

90. What is the ratio of the total number of boys to
the total number of girls ?
(a) B67:83
(b) 17:26
() 27:19
(d) 189:179

STS-M-TPT

1.

92,

93.

(28-A)

Frequency density of a class is computed by

the ratio

(a) Class frequency to the class width

(b)  Class frequency to total frequency

(c) Class frequency to total number of
classes

(d) Cumulative frequency up to that class to

total frequency

A small company pays each of its 5 category
‘C’ workers ¥ 20,000, each of its 3 category ‘B’
workers ¥ 25,000 and a category ‘A’ worker
¥ 65,000. The number of workers earning less

than the mean salary is

(a) 8
(b) &
() 4
(d) 3

A man travelled 12 km at a speed of 4 km/hr
and further 10 km at a speed of 5 km/hr. What

was his average speed ?

(a) 44 km/hr
(b) 45 km/hr
() 50km/hr
(d) 2-5km/hr
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87.

89.

ml

STS-M-TPT

Tifeash! 1 3799 w1 1eft Fsfral 6t d@en,
W O #1 siegE w9 $o famfia
=1 H&A 1 T fohae wfasa & 2

(a) 588

(b) 735

(e) 787

(d 806

o fawal o wgehl @i wisfeal i 9= & +=
T 3T S 8 ?

(a) TIfoTE 3R WA faEm
(b) wifeyshr 3t W fagm
(e) T 3t Wi famm

(d) Tiforg 3R Tiferd

O 1 AT FH Tl ASh| S T IR
Mifds fasmm &1 e s Tl st $
GET % oI T 37 R 7

(a) 20

(b) 30

(e) 60

(d) 80

SH B T w1 dAsfrdl f Fa d@n A
ST TR ?
(a) 67:83
(b) 17:26
() 27:19

(d) 189:179

91.

93.

(29-A)

et = =+ sRERa @ fFe smuE g
uferfere forar s 2 2

(a) & SHERAT $1 & Hier ¥ IFEuE
(b) I SHEREAT 1 Hehel ARERAT & TG
(c) @ ST &1 9l I Fe A B I

(d 38 T o I T THERAT W G
FRERAT | I

& B HOE SR O T g 5 HHEmE]
H T 20,000, ‘B T % UAF 3 HH=E H
25000, 3t A T F U= FHAE B
T 65,000 T YA HLA & | HIEY da4 § HH
FAH aTel HHETE $ T e 2 o

(a) 8
(b) 5
(e 4

d) 3

Ush EHT 4 km/=T T 919 ¥ 12 km &l g7
AT 8 R T 5 ko/deT 1 =7 | 10 km T
AT Al & | IHHT A 9ret 59 off 2

(a) 4-4 km/S2T

(b) 45 kny/=el
(¢) 50 km/5e

(d) 25 km/sieT
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94.

The pie diagrams on the monthly expenditure
of two families A and B are drawn with radii
of two circles taken in the ratio 16:9 to
compare their expenditures.

Which one of the following is the appropriate
data used for the above mentioned pie
diagrams 7

(a) ¥ 16,000 and ¥ 9,000

(b) ¥ 8,000 and ¥ 4,500
(c) ¥ 25,600 and ¥ 8,100
(d} ¥ 4,000 and ¥ 3,000
95. Consider the following statements :
Statement 1 : The wvalue of a random
variable having the highest
frequency is mode.
Statement 11 : Mode is unigue.
Which one of the following is correct in respect
of the above statements 7
(a) Both Statement I and Statement II are
true and Statement II is the correct
explanation of Statement I
(b) Both Statement I and Statement II are
true but Statement II is not the correct
explanation of Statement I
(¢) Statement I is true but Statement II is
false
(d) Statement I is false but Statement II is
true
96. Which one of the following is not correct ?
The proportion of various items in a pie
diagram is proportional to the
(a) Areas of slices
(b)  Angles of slices
(c) Lengths of the curved arcs of the slices
(d) Perimeters of the slices
STS-M-TPT

97.

98.

The geometric mean of x and y is 6 and the

geometric mean of x, y and z is alsg 6. Then

the value of z is ¥
(a) 12

® 6

e) 6

@ ¥

The total number of live births in a specific
locality during different months of a specifie
year was obtained from the office of the Birth
Registrar. This set of data may be called

(a) Primary data -

(b) Secondary data

{c) Recorded data

{d) Countable data

The heights (in em) of 5 students are 150, 165,
161, 144 and 155. What are the wvalues of

mean and median (in cm) respectively 7

(a) 165 and 161
(b) 155 and 155
(e} 160 and 155
(d) 155 and 161

100. The average height of 22 students of a class is

(30-A)

140 cm and the average height of 28 students
is 152 cm. What is the
average height of students of both the

of another class

classes ?

(a) 14432 cm
(b) 145-52 em
(c) 146:72 em
(d) 14792 em
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94,

95.

STS-M-TPT

2 ufEmd, A 3R B % it =+ % e @i
™ i 37 @Ol f geEr e e @) g
1 BSati W1 9T 16 : 9 TET 4T |

3w aftfs gemEt % B vaw fer T ad
e, Frafofaa d & s # 0

(a) ¥ 16,000 3R Z 9,000

(b) T 8,000 3 T 4,500

(¢) ¥ 25,600 3T = 8,100

(d) ¥ 4,000 37 F 3,000

Fre=fafaa wuat «w e #ifsw .

Fo 1 : AT AT 9Te FTgesh =T H
W Sga (W) e @ |

FYT 11 : TEAH (We) A (3F) g 2 |

I HEl & vy # et § 9 SR
wE R 2

(a) *uq [ IR HeA I =HT Tat F, 3R
YA I, HYF | H TE TR 2

(b) YT I 3R FTF II SHI H& &, g
HYF 11, FYF 1 1 T8l T T8 8

() YT [T B, IGg S 11T &
(d) @F 17 8, Ui HuT [ HeEl 8

f=ferfaa d & w9 ad 777 2 2

wh gunE # fafm mgl =1 oum fees
HUTIT BT R ?

(a) 3791 % BFBA! &

(b) @9l & il %

(¢) 3TN % a3k =T HI T+

(d) 379 % gfmmt &

97.

99.

x #R y HT UIRR AT 6 ¥ AT x, y N 2z FH
TR qTed ft 6B | 99 2 KT W w0 A 2

(a) 12

b 6
(cy B
d %6

T TSI %+ HEfed ¥, wH fafiee o &
fafim 7 & S fafire e § Sifaa
ST (wEdl) $ e g grE H ol | 39
(3TTgl) & 39 TH=1T = 41 gl o Ghdl & 7
(a) st (g&T) 39U

(by Titor 39T

(c) arfafafas 3o

(d) T 39T

5 fernfsfat &t $=meat (em #) 150, 165, 161,
144 3R 155 & | T mem 3R mifSieR
(fifEmm) &% 9 (cm W) wuwn w2 E 2

(a) 165 3f1T 161
(b) 15537 155
(¢) 160 3N 155
(d) 1553 161

100. UF He & 22 feenfiat 6y sitga F=1€ 140 em

(31-A)

2 3w 9 wEm & 28 fafiEt i afme
FaTE 152 em & | 21 st o+ faenfit
sitea S w2 7

(a) 144:32 cm
(b)
(e} 14672 cm

(d)

14552 em

147-92 em
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